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These mark schemes are published as an aid to teachers and students, to indicate the requirements
of the examination. They show the basis on which Examiners were initially instructed to award marks.
They do not indicate the details of the discussions that took place at an Examiners’ meeting before
marking began. Any substantial changes to the mark scheme that arose from these discussions will
be recorded in the published Report on the Examination.

All Examiners are instructed that alternative correct answers and unexpected approaches in
candidates’ scripts must be given marks that fairly reflect the relevant knowledge and skills
demonstrated.

Mark schemes must be read in conjunction with the question papers and the Report on the
Examination.

The minimum marks in these components needed for various grades were previously published with
these mark schemes, but are now instead included in the Report on the Examination for this session.

e CIE will not enter into discussion or correspondence in connection with these mark schemes.

CIE is publishing the mark schemes for the May/June 2006 question papers for most IGCSE and
GCE Advanced Level and Advanced Subsidiary Level syllabuses and some Ordinary Level
syllabuses.
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IGCSE — May/June 2006 0580 and 0581 03
Qusstion Anmwar " Marks | Comments
1 (8M]) transiation st be a single rensformation
= net translocation sic 2
(-7} Bccept in words T lait =¥
_(4) sccept in words 4 down
1 (apil) enlargement | |must be a single transformation
5F=3
cartre (0,0)
1 (b) cormect rotation SC1 for any rotafion of 80 enticlockwise
lor SC1 for cormect rotation of 80 clockwise
1{e}) comect reflaction SC 1 for any reflectian In y=k
or SC 1 for cormact reflection In x= -2
10
2 (8) 141 cao MiforNxi5x20 (mpby 1413 .)
2(h) | 2hB8or2hs7 " |SC 2 for 176 10 177 mins F
Mifor(a)/08
| 5C 1 for it time In mins cormectty changed
o howrs and minutes.( if mone than 1 hour )
2(e) 36 can M1 for 12 ssen as length of bax =
2 (d)(i) BB(0) ceo M1 for 96 x 0.35- 25 or 96 x 35 - 2500
2 (d)i 344 or 4 “Ris (@) x4
M1 for (d)(1) / 25
M1 {dep) for x 100
12
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IGCSE — May/June 2006 0580 and 0581 03

3 (&) 4p-3q 2 |BCA for alther 4p or -3g ss8n
3 (o) 7 cao 3 [Mifor 2x-5=9 or Bx-15=27

 IMifor 2x=14  or Bx=42
3 (e 2|+ 2k }- 1 Jor2(j*k) or j+|+k+k
= e Wi=T72 in
3 (¢ HWEi 24 cao 2 |M1 for substitution of k=2| or j=ki2

implind by 6j=72 , 3|=35 , ans of 12 , 3k=72
3 (d) numerstor =18 | B1
L | M1_| o dividing by 3/
173 Al | SC1 for ans of 1/3 withoul working
3 [diliy W+ | 2 |Mifor wr=a-1
_:_ T

E |

=] '

- = e - —— — — — = _|
4 (g) 16,21, 28 s 1.1.1 |
4 (B) 101 2 |[Mifor 5320+ 1 soi,
41t Bn +1 2 [8C1for Bn+k sesn
4(d) &7 2 [N for -1 then /5 i

or SC1 fifrom ( c) = 186 comecty solved.
]
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l - - =
5 (8] R [N Tor distanca [ time
15 {6MI) 2 squares hori, . _
paraliel line 10470 | 1 |indep. "
5 (b)) kR "IN | commect time or N from graph (b)(1) -
| allow + or - 3 mins =
5(c)i) | starta (0730 ,470) | 1 e
endmt (0945, 0) | 1 |but must be a straight line
5 (e 280 i [Rfromgraph
allow + or - 5 km,
& (cpil) || 208 to 208 2 M1 for distance / ime -
& (&)} 1634 or 163 2 [M1for sum of heights / 10
|6 {a)(im) 24 __2_SC1for both 178 and 154 seen i
gli_:_;j:i_lm_gm“'l__m P1 for 5 or B comect
B (b)) line: of bast f L1 |judge by eye
B (b)) | heightfor 21cm 1 [ffrom their line of best fit
6 (b)) _positive 1
(b)(v) | comect statemeni | 1 larger hand spen prester height_or equiv
i = =
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e

7 (a) m [ 1 ==

7 (b) y=2x+5 2 |SC1for 2x or 5 seen I

7(o B,12,3 & AT

7(d) Spoints plotted | P2R PN for 6,7 or B comedl

limit for accuracy is 1/2 small square
smooth curve drawn | C1  reesonable curve through tha 8 comect points

:__4 s | not dependent on P2 ==
Ty | (8B, 27) 1f [sllow +or- 0.1 is from their graph
| {18,87) N_|aliow+or- 0.9 N is from their graph
FtE 1
— e ',
: i
| v Sl
& @il pertagon : "
B ()il 72 2 |MH for 360(5 =
|& (ayii} 108 3 [M1N for 180- (a))
Bk | =338 | 1 |
] {y=) B4 - ] %
[ =) b 2 M1 for 180-(354+64) oe sal
S 10
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Sia) | 86 "1 |allow +or-1
|3 {a)qii) 72 [ 1 |silow + or-2 ——
g (b)) angle bissctor 2 |musi have cormect arcs seen i,
constructed | SC1 for_any line from A to BC
9 (b)) B2 to B4 1 |Mis langth (+/- 1) from line In (b){])
I ! :=
B8(e) | perpendicular | 2 |musi have comes! ancs sean
bisecter of AC ‘mliow +- 0.1 and +- 2 degrees
SC1 if inaccurate or comect by eye without
constrection |inge seen
|8 {d) a 2 |G placed anywhars In the comect region
ft anly from 2 lines crealing & distinct region
L
S
10 (a) p=40 , g=50 1 |may be seen on the diagram ]
10 (b) 374 |2 M1 for tanACB = 13117 oe or better
10 (¢} 214 2 [Mitor (138177 | V1804280 , 458
100d) | 1105 | 2 allow 110 or 111 = §
i i Wi for 05x13x17
10 (&) | 27216 273 M M is 3MMO-(b)
M1 for 380 - (50 + (b)) oe
L
104
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Diagram Solutions
estion 1
T
1
4
x _A
=
TN\
3 1a X _ﬁ 3 0
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Question 5
Sevllle.....; -
Diatance from mEnam
Madrid . -
| -
(Kilometras) 400 . .
|
|
300
1 ; I
| " 1
|
Eﬂn s
100 ,
o
]
Madrid...... :
D700 D800 00 1000
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Height

180

178

X

1786

174

172
170

168
186

.

164

162

180

158

156

1544

152
150

14

16

18 20
Hand apan (cm)

24

26
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